Fort Bend County Tabulation Bid 14-041 Construction of Williams Way Phase 2 From Wheaton Street to Pilgrim

Recommendation: Allgood Construction Company Funding: Mobility Project

Company	Total Bid	Completion Time in Calendar Days				
Allgood Construction Company Stafford	\$3,115,800.00	270				
Hassell Construction Co., Inc. Houston	\$3,273,138.80	270				
Angel Brothers Enterprises, Ltd. Baytown	\$3,639,370.47	270				
Durwood Greene Construction Co. Stafford	\$3,747,580.00	250				
Triple B Services	Disqualified: Failed to provide references as required.					

_					Allgoo	d Const.	Hassell Const.		Angel Brothers		Durwood Greene Const.	
Item	Spec.	Item	Unit	Unit	Unit	Total in	Unit	Total in	Unit	Total in	Unit	Total in
No.	No.	Description	Measure	Quantity	Price	Figures	Price	Figures	Price	Figures	Price	Figures
					<u> </u>							
A. SITE	PREPA	RATION AND EARTHWORK										
1	110	ROADWAY EXCAVATION	CY	16,864	\$5.60	\$94,438.40	\$7.30	\$123,107.20	\$7.85	\$132,382.40	\$12.75	\$215,016.00
2	132	EMBANKMENT	CY	5,163	\$5.60	\$28,912.80	\$1.75	\$9,035.25	\$4.10	\$21,168.30	\$3.00	\$15,489.00
3		SODDING FOR EROSION CONTROL AND STABILIZATION	SY	4,011	\$3.36	\$13,476.96	\$3.25	\$13,035.75	\$6.25	\$25,068.75	\$3.50	\$14,038.50
4	165	HYDRO-MULCH SEEDING	AC	3.14	\$1,344.00	\$4,220.16	\$1,740.00	\$5,463.60	\$1,473.00	\$4,625.22	\$1,500.00	\$4,710.00
5	465	REMOVE AND DISPOSE OF EXISTING CONCRETE OR METAL PIPE-15" RCP	LF	138	\$11.20	\$1,545.60	\$17.05	\$2,352.90	\$8.00	\$1,104.00	\$7.00	\$966.00
6	465	REMOVE AND DISPOSE OF EXISTING CONCRETE OR METAL PIPE-18" RCP	LF	306	\$12.32	\$3,769.92	\$17.60	\$5,385.60	\$8.25	\$2,524.50	\$7.00	\$2,142.00
7	465	REMOVE AND DISPOSE OF EXISTING CONCRETE OR METAL PIPE-24" RCP	LF	567	\$13.44	\$7,620.48	\$19.70	\$11,169.90	\$9.50	\$5,386.50	\$7.00	\$3,969.00
8	165	REMOVE AND DISPOSE OF EXISTING CONCRETE OR METAL PIPE-36" RCP	LF	123	\$14.56	\$1,790.88	\$29.15	\$3,585.45	\$10.50	\$1,291.50	\$7.00	\$861.00
9	465	REMOVE AND DISPOSE OF EXISTING CONCRETE OR METAL PIPE-48" RCP	LF	94	\$15.68	\$1,473.92	\$46.00	\$4,324.00	\$12.25	\$1,151.50	\$7.00	\$658.00
10	465	REMOVE AND DISPOSE OF EXISTING CONCRETE OR METAL PIPE-24" PVC	LF	348	\$11.20	\$3,897.60	\$19.70	\$6,855.60	\$9.50	\$3,306.00	\$7.00	\$2,436.00
11	465	REMOVE AND DISPOSE OF EXISTING CONCRETE OR METAL PIPE-18" PVC	LF	284	\$11.20	\$3,180.80	\$17.60	\$4,998.40	\$8.00	\$2,272.00	\$7.00	\$1,988.00
12	465	REMOVE AND DISPOSE OF EXISTING CONCRETE OR METAL PIPE-24" CMP	LF	129	\$11.20	\$1,444.80	\$22.00	\$2,838.00	\$9.50	\$1,225.50	\$7.00	\$903.00
13	495	REMOVING OLD STRUCTURES - SAFETY END TREATMENT, MANHOLE	EA	10	\$616.00	\$6,160.00	\$750.00	\$7,500.00	\$434.00		\$1,000.00	\$10,000.00
14		REMOVE FLEX BEAM GUARDRAIL	LF	150	\$11.20	\$1,680.00	\$2.75	\$412.50	\$5.75	\$862.50	\$5.00	\$750.00
15	540	REMOVING & DISPOSING OF EXISTING ASPHALTIC SURFACE & BASE MATERIAL	SY	14,780	\$2.24	\$33,107.20	\$2.00	\$29,560.00	\$7.00	\$103,460.00	\$7.00	\$103,460.00
16	550	EXISTING FENCING AND GATES - REMOVE BARBED WIRE	LF	1,624	\$1.34	\$2,176.16	\$2.35	\$3,816.40	\$2.00		\$3.00	\$4,872.00
17		REMOVING CONCRETE RIPARP	SY	40	\$2.24	\$89.60	\$11.80	\$472.00	\$7.00	\$280.00	\$40.00	\$1,600.00
18		REMOVING CONCRETE CURB	LF	741	\$1.68	\$1,244.88	\$1.45	\$1,074.45	\$1.00	\$741.00	\$7.00	\$5,187.00
19	Drawing	PROJECT IDENTIFICATION SIGN	EA	2	\$694.40	\$1,388.80	\$730.00	\$1,460.00	\$809.00	\$1,618.00	\$900.00	\$1,800.00
SUB-TO	TAL SITE	PREPARATION AND EARTHWORK				\$211,618.96		\$236,447.00		\$316,055.67		\$390,845.50

					Allgood Const.		Hassel	ll Const.	Angel	Brothers	Durwood Greene Const.	
Item	Spec.	Item	Unit	Unit	Unit	Total in	Unit	Total in	Unit	Total in	Unit	Total in
No.	No.	Description	Measure	Quantity	Price	Figures	Price	Figures	Price	Figures	Price	Figures
B. PAV	ING	-	1						•			
20	220	LIME STABILIZED SUBGRADE (8")	SY	31,582	\$2.35	\$74,217.70	\$2.50	\$78,955.00	\$2.75	\$86,850.50	\$2.00	\$63,164.00
21	221	LIME, TYPE A HYDRATED LIME	TON	758	\$165.76	\$125,646.08	\$162.50	\$123,175.00	\$160.00	\$121,280.00	\$160.00	\$121,280.00
22	223	LIME-FLY ASH OR FLYASH STABILIZED SUBGRADE	TON	189	\$69.44	\$13,124.16	\$72.45	\$13,693.05	\$67.00	\$12,663.00	\$75.00	\$14,175.00
23	250	12" HOT MIX ASPHALTIC CONC BASE COURSE (BLACK BASE)	TON	1,906	\$83.83	\$159,779.98	\$94.85	\$180,784.10	\$72.25	\$137,708.50	\$74.00	\$141,044.00
24	340	3" HOT MIX HOT LAID ASPHALTIC CONCRETE	TON	434	\$92.79	\$40,270.86	\$104.30	\$45,266.20	\$92.00	\$39,928.00	\$95.00	\$41,230.00
25	360	8" JOINT REINFORCED CONCRETE PAVEMENT	SY	27,947	\$38.08	\$1,064,221.76	\$40.00	\$1,117,880.00	\$51.00	\$1,425,297.00	\$41.00	\$1,145,827.00
26	450	CONCRETE AND STEEL RAILING	LF	90	\$168.00	\$15,120.00	\$115.00	\$10,350.00	\$231.00	\$20,790.00	\$140.00	\$12,600.00
27	530	CONCRETE CURB	LF	15,466	\$2.46	\$38,046.36	\$2.60	\$40,211.60	\$3.00	\$46,398.00	\$2.85	\$44,078.10
28	530	CONCRETE SIDEWALK	SY	2,249	\$35.28	\$79,344.72	\$44.10	\$99,180.90	\$46.75	\$105,140.75	\$45.00	\$101,205.00
29	530	CONCRETE DRIVEWAY	SY	1,597	\$44.80	\$71,545.60	\$39.55	\$63,161.35	\$57.25	\$91,428.25	\$50.00	\$79,850.00
30	TxDOT	PEDESTRIAN RAMPS	EA	22	\$952.00	\$20,944.00	\$1,180.00	\$25,960.00	\$924.00	\$20,328.00	\$1,100.00	\$24,200.00
31	535	ESPLANADES, MEDIANS AND DERECTIONAL ISLAND (6" CONCRETE)	SY	329	\$56.00	\$18,424.00	\$38.00	\$12,502.00	\$62.50	\$20,562.50	\$60.00	\$19,740.00
32	536	COLORING CONCRETE MEDIANS AND SIDEWALKS	SY	329	\$11.20	\$3,684.80	\$14.90	\$4,902.10	\$1.25	\$411.25	\$10.00	\$3,290.00
33	516	METAL BEAM GUARD FENCE	LF	130	\$67.20	\$8,736.00	\$70.65	\$9,184.50	\$69.50	\$9,035.00	\$75.00	\$9,750.00
SUB-TO	TAL PAV	ING				\$1,733,106.02		\$1,825,205.80		\$2,137,820.75		\$1,821,433.10
C. DRA	INAGE 429	TRENCH EXCAVATION PROTECTION	LF	5,603	\$0.11	\$616.33	\$1.20	\$6,723.60	\$1.25	\$7,003.75	\$1.00	\$5,603.00
35	460		EA	3,003	\$28,000.00	\$28,000.00	\$23,600.00	\$23,600.00	\$1,25	\$31,139.00	\$20,000.00	\$20,000.00
36	460	CAST-IN-PLACE WINGWALL (HW=9.5")	LF	28		\$28,000.00	\$23,000.00	\$23,600.00		\$31,139.00	\$20,000.00	\$20,000.00
37	460	REINFORCED CONCRETE PIPE, 12" REINFORCED CONCRETE PIPE, 18"	LF	366	\$0.00 \$0.00	\$0.00	\$0.00	\$0.00	\$0.00 \$0.00	\$0.00	\$65.00	\$2,240.00
38	460	REINFORCED CONCRETE PIPE, 18 REINFORCED CONCRETE PIPE, 24"	LF	2,445	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$77.00	\$188,265,00
39	460	REINFORCED CONCRETE PIPE, 24" REINFORCED CONCRETE PIPE, 36"	LF	100	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$115.00	\$188,265.00
40	460	REINFORCED CONCRETE PIPE, 36 REINFORCED CONCRETE PIPE, 42"	LF	358	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$135.00	\$48,330.00
41	460	REINFORCED CONCRETE PIPE, 42 REINFORCED CONCRETE PIPE, 48"	LF	1,197	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$165.00	\$197,505.00
42	460	REINFORCED CONCRETE PIPE, 54"	LF	681	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$205.00	\$139,605.00
43	460	REINFORCED CONCRETE PIPE, 60"	LF	196	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$260.00	\$50,960.00
44	460	CONNECTION COLLAR FOR 60" RCP	EA	1	\$1,120.00	\$1,120.00	\$3,600.00	\$3,600.00	\$652.00	\$652.00	\$2,500.00	\$2,500.00
45	COH	BRICK PLUG. 60"	EA	1	\$784.00	\$784.00	\$765.00	\$765,00	\$526.00	\$526.00	\$1,000.00	\$1,000.00
46	COH	BRICK PLUG, 42"	EA	1	\$560.00	\$560.00	\$640.00	\$640.00	\$473.00	\$473.00	\$750.00	\$750.00
47	COH	BRICK PLUG, 36"	EA	1	\$392.00	\$392.00	\$553.00	\$553.00	\$418.00	\$418.00	\$300.00	\$300.00
48	COH	BRICK PLUG, 12"	EA	1	\$224.00	\$224.00	\$265.00	\$265.00	\$186.00	\$186.00	\$200.00	\$200.00
49	COH	BRICK PLUG, 8' X 6'	EA	1	\$1,344.00	\$1,344.00	\$1,600.00	\$1,600.00	\$724.00	\$724.00	\$2,500.00	\$2,500.00
50	461	CORREGATED METAL PIPE, 24"	LF	20	\$50.40	\$1,008.00	\$74.50	\$1,490.00	\$69.00	\$1,380.00	\$150.00	\$3,000.00
51	463	SAFETY END TREATMENT	EA	11	\$1,344.00	\$14,784.00	\$1,900.00	\$20,900.00	\$1,968.00	\$21,648.00	\$1,100.00	\$12,100.00
52	472	INLETS TYPE C	EA	25	\$2,968.00	\$74,200.00	\$3,800.00	\$95,000.00	\$3,892.00	\$97,300.00	\$3,300.00	\$82,500.00
53	472	INLETS TYPE C-1	EA	3	\$3,920.00	\$11,760.00	\$5,000.00	\$15,000.00	\$5,200.00	\$15,600.00	\$4,700.00	\$14,100.00
54	472	INLETS TYPE A	EA	5	\$1,736.00	\$8,680.00	\$2,600.00	\$13,000.00	\$2,246.00	\$11,230.00	\$2,000.00	\$10,000.00
55	471	TYPE C MANHOLE	EA	9	\$3,354.40	\$30,189.60	\$4,000.00	\$36,000.00	\$3,596.00	\$32,364.00	\$4,500.00	\$40,500.00
56	471	TYPE C MANHOLE (TOP CONE W/LID)	EA	2	\$1,792.00	\$3,584.00	\$1,700.00	\$3,400.00	\$1,298.00	\$2,596.00	\$1,800.00	\$3,600.00
57	480	REINFORCED CONCRETE BOX, 8' X 4'	LF	113	\$416.64	\$47,080.32	\$500.00	\$56,500.00	\$463.00	\$52,319.00	\$570.00	\$64,410.00
58	480	REINFORCED CONCRETE BOX, 8' X 6'	LF	6	\$470.40	\$2,822.40	\$490.00	\$2,940.00	\$519.00	\$3,114.00	\$600.00	\$3,600.00
59	480	REINFORCED CONCRETE BOX, 9' X 6'	LF	93	\$528.64	\$49,163.52	\$580.00	\$53,940.00	\$578.00	\$53,754.00	\$650.00	\$60,450.00
60	493 TAL DRA	RIPRAP	SY	222	\$50.40	\$11,188.80 \$287,500.97	\$53.00	\$11,766.00 \$347,682.60	\$62.00	\$13,764.00 \$346,190.75	\$75.00	\$16,650.00 \$1,005,958.00
SOB-10	I AL DKA	INAGE				\$487,500.97		\$347,082.00		\$340,190./3		\$1,005,958.00

					Allgood Const.		Hassell Const.		Angel	Brothers	Durwood Greene Const.		
Item	Spec.	Item	Unit	Unit	Unit	Total in	Unit	Total in	Unit	Total in	Unit	Total in	
No.	No.	Description	Measure	Quantity	Price	Figures	Price	Figures	Price	Figures	Price	Figures	
D. STO	RM WA	TER POLLUTION PREVENTION PLAN		_		_		<u>_</u>			_		
61	713	REINFORCED FILTER FABRIC FENCE	LF	7,642	\$1.34	\$10,240.28	\$2.05	\$15,666.10	\$1.75	\$13,373.50	\$1.50	\$11,463.00	
62	719	INLET PROTECTION BARRIER	EA	48	\$56.00	\$2,688.00	\$147.00	\$7,056.00	\$62.00	\$2,976.00	\$100.00	\$4,800.00	
63	724	STABILIZED CONSTRUCTION ACCESS, TYPE 1- ROCK	LS	1	\$1,344.00	\$1,344.00	\$2,650.00	\$2,650.00	\$2,310.00	\$2,310.00	\$3,500.00	\$3,500.00	
64	725	EROSION AND SEDIMENTATION CONTROL IN ACCORDANCE WITH TPDES REQUIREMENT	LS	1	\$560.00	\$560.00	\$15,100.00	\$15,100.00	\$2,088.00	\$2,088.00	\$12,000.00	\$12,000.00	
65	750	ROCK FILTER DAM	LF	62	\$28.00	\$1,736.00	\$82.45	\$5,111.90	\$37.00	\$2,294.00	\$85.00	\$5,270.00	
SUB-TO	TAL STO	RM WATER POLLUTION PREVENTION PLAN				\$16,568.28		\$45,584.00		\$23,041.50		\$37,033.00	
E. TEM	IPORAR	Y TRAFFIC CONTROL											
66	431	JACKING, BORING, OR TUNNELING PIPE	LF	70	\$1,323.64	\$92,654.80	\$695.00	\$48,650.00	\$52.00	\$3,640.00	\$370.00	\$25,900.00	
67	433	CEMENT STABILIZED SAND BEDDING AND BACKFILL MATERIAL	SY	47	\$11.20	\$526.40	\$37.00	\$1,739.00	\$21.25	\$998.75	\$120.00	\$5,640.00	
68	460	24" RCP	LF	67	\$56.00	\$3,752.00	\$51.40	\$3,443.80	\$88.00	\$5,896.00	\$80.00	\$5,360.00	
69	472	INLETS TY A	EA	6	\$1,736.00	\$10,416.00	\$2,830.00	\$16,980.00	\$2,246.00	\$13,476.00	\$2,000.00	\$12,000.00	
70	665	WORK ZONE PAV MARK (REMOV), 4", W & Y, SLD & BRK	LF	17,075	\$0.62	\$10,586.50	\$0.65	\$11,098.75	\$0.70	\$11,952.50	\$1.00	\$17,075.00	
71	671	TRAFFIC CONTROL	MO	16	\$1,904.00	\$30,464.00	\$2,200.00	\$35,200.00	\$2,720.00	\$43,520.00	\$5,500.00	\$88,000.00	
72	673	CONSTRUCTING DETOURS FOR MAINTAINING TWO-WAY TRAFFIC	TON	357	\$112.00	\$39,984.00	\$110.00	\$39,270.00	\$162.00	\$57,834.00	\$170.00	\$60,690.00	
SUB-TO	TAL TEM	IPORARY TRAFFIC CONTROL				\$188,383.70		\$156,381.55		\$137,317.25		\$214,665.00	
F. PERI	MANEN'	T TRAFFIC CONTROL											
73	500	REMOVE & RELOCATE OR DISPOSE OF TRAFFIC SIGNS, MAIL BOXES, AND ROADWAY SIGNS	LS	1	\$2,240.00	\$2,240.00	\$1,000.00	\$1,000.00	\$2,310.00	\$2,310.00	\$2,500.00	\$2,500.0	
74	674	REMOVE PAVEMENT STRIPPING AND MARKINGS	LF	14,568	\$0.49	\$7,138.32	\$0.50	\$7,284.00	\$0.50	\$7,284.00	\$0.60	\$8,740.8	
75	624	ALUMINUM SIGNS	EA	28	\$436.80	\$12,230.40	\$460.00	\$12,880.00	\$462.00	\$12,936.00	\$450.00	\$12,600.00	
76	660	REF PAV MARK TY I OR II (W) 4" (BRK)	LF	2,195	\$0.46	\$1,009.70	\$0.50	\$1,097.50	\$0.60	\$1,317.00	\$0.60	\$1,317.0	
77	660	REF PAV MARK TY I OR II (W) 4" (SLD)	LF	812	\$0.46	\$373.52	\$0.50	\$406.00	\$0.60	\$487.20	\$0.60	\$487.20	
78	660	REF PAV MARK TY I OR II (W) 8" (SLD)	LF	1,140	\$1.03	\$1,174.20	\$1.10	\$1,254.00	\$1.20	\$1,368.00	\$1.50	\$1,710.0	
79	660	REF PAV MARK TY I OR II (W) 12" (SLD)	LF	1,267	\$2.80	\$3,547.60	\$2.95	\$3,737.65	\$2.90	\$3,674.30	\$4.00	\$5,068.0	
80	660	REF PAV MARK TY I OR II (W) 24" (SLD)	LF	329	\$5.60	\$1,842.40	\$5.90	\$1,941.10	\$5.80	\$1,908.20	\$8.00	\$2,632.0	
81	660	REF PAV MARK TY I OR II (Y) 4" (SLD)	LF	1,364	\$0.46	\$627.44	\$0.50	\$682.00	\$0.60	\$818.40	\$0.60	\$818.4	
82	660	REF PAV MARK TY I OR II (Y) 12" (SLD)	LF	311	\$3.02	\$939.22	\$3.20	\$995.20	\$2.90	\$901.90	\$4.00	\$1,244.0	
83	660	REF PAV MARK TY I OR II (W) (ARROW)	EA	14	\$179.20	\$2,508.80	\$190.00	\$2,660.00	\$116.00	\$1,624.00	\$200.00	\$2,800.0	
84	660	REF PAV MARK TY I OR II (W) (WORD)	EA	11	\$179.20	\$1,971.20	\$190.00	\$2,090.00	\$116.00	\$1,276.00	\$200.00	\$2,200.0	
85	660	REF PAV MARK MED NOSE (Y)	EA	23	\$190.40	\$4,379.20	\$200.00	\$4,600.00	\$86.75	\$1,995.25	\$200.00	\$4,600.0	
86	663	REFL PAV MRKR TY II C-R (HV)	EA	105	\$4.37	\$458.85	\$4.60	\$483.00	\$3.50	\$367.50	\$7.00	\$735.0	

\$40,440.85

\$41,110.45

\$38,267.75

\$47,452.40

SUB-TOTAL PERMANENT TRAFFIC CONTROL

				Ī	Allgoo	d Const.	Hasse	ll Const.	Angel 1	Brothers	Durwood G	reene Const.
Item	Spec.	Item	Unit	Unit	Unit	Total in	Unit	Total in	Unit	Total in	Unit	Total in
No.	No.	Description	Measure	Quantity	Price	Figures	Price	Figures	Price	Figures	Price	Figures
G. UTI	LITIES											
87	471	PRECAST CONCRETE MANHOLE	EA	1	\$2,351.93	\$2,351.93	\$4,700.00	\$4,700.00	\$3,851.00	\$3,851.00	\$6,000.00	\$6,000.0
88	СОН	ADJUSTING MANHOLE, INLETS, AND VALVE BOXES TO GRADE	EA	16	\$252.00	\$4,032.00	\$800.00	\$12,800.00	\$405.00	\$6,480.00	\$550.00	\$8,800.00
89	COH	ABANDONMENT OF SEWERS	LF	759	\$5.60	\$4,250.40	\$6.50	\$4,933.50	\$14.00	\$10,626.00	\$27.00	\$20,493.0
90	COH	8" PVC WATER LINES	LF	227	\$33.60	\$7,627.20	\$31.50	\$7,150.50	\$98.00	\$22,246.00	\$75.00	\$17,025.0
91	COH	12" PVC WATER LINES	LF	75	\$72.80	\$5,460.00	\$86.00	\$6,450.00	\$211.00	\$15,825.00	\$130.00	\$9,750.0
92	COH	20" PVC SLEEVE	LF	90	\$78.40	\$7,056.00	\$101.00	\$9,090.00	\$76.00	\$6,840.00	\$150.00	\$13,500.0
93	COH	8" WET CONNECTION	EA	1	\$560.00	\$560.00	\$2,200.00	\$2,200.00	\$818.00	\$818.00	\$5,500.00	\$5,500.0
94	COH	12" WET CONNECTION	EA	2	\$952.00	\$1,904.00	\$3,100.00	\$6,200.00	\$1,159.00	\$2,318.00	\$5,500.00	\$11,000.0
95	СОН	8" CUT, PLUG, AND ABANDONMENT OF WATER LINES	EA	2	\$1,120.00	\$2,240.00	\$1,750.00	\$3,500.00	\$324.00	\$648.00	\$2,500.00	\$5,000.0
96	СОН	12" CUT, PLUG, AND ABANDONMENT OF WATER LINES	EA	2	\$1,344.00	\$2,688.00	\$2,150.00	\$4,300.00	\$515.00	\$1,030.00	\$2,500.00	\$5,000.0
97	COH	FIRE HYDRANT ADJUSTMENT	EA	1	\$784.00	\$784.00	\$1,600.00	\$1,600.00	\$732.00	\$732.00	\$625.00	\$625.0
98	СОН	AIR RELEASE AND VACUUM RELIEF VALVES	EA	1	\$7,280.00	\$7,280.00	\$4,800.00	\$4,800.00	\$3,295.00	\$3,295.00	\$10,000.00	\$10,000.0
99	СОН	12" X 8" TAPPING SLEEVES AND VALVES WITH BOX	EA	1	\$6,160.00	\$6,160.00	\$3,800.00	\$3,800.00	\$3,745.00	\$3,745.00	\$16,000.00	\$16,000.0
100	COH	8" GRAVITY SANITARY SEWERS	LF	140	\$50.40	\$7,056.00	\$107.00	\$14,980.00	\$145.00	\$20,300.00	\$80.00	\$11,200.0
101	COH	14" SANITARY SEWER FORCE MAINS	LF	50	\$196.00	\$9,800.00	\$275.00	\$13,750.00	\$335.00	\$16,750.00	\$300.00	\$15,000.0
102	COH	COMMUNICATION HANDHOLE	EA	3	\$3,696.00	\$11,088.00	\$3,650.00	\$10,950.00	\$3,843.00	\$11,529.00	\$5,000.00	\$15,000.0
103	COH	4" COMMUNICATION CONDUIT	LF	4,824	\$15.62	\$75,350.88	\$14.15	\$68,259.60	\$15.00	\$72,360.00	\$12.50	\$60,300.0
UB-T(TAL UTII	LITIES ADJUSTMENT				\$155,688.41		\$179,463.60		\$199,393.00		\$230,193.0
I. AL		E BID ITEMS (CONTRACTOR IS TO BID ON I	EITHER B	ID ITEM N	UMBERS 36-	43 OR 104-111,	BUT NOT B	OTH)				
104	HCFCD 02505	HDPE PIPE, 12"	LF	28	\$33.82	\$946.96	\$32.60	\$912.80	\$24.50	\$686.00	No Bid	\$0.0
105	HCFCD 02505	HDPE PIPE, 18"	LF	366	\$39.18	\$14,339.88	\$46.50	\$17,019.00	\$32.00	\$11,712.00	No Bid	\$0.0
106	HCFCD 02505	HDPE PIPE, 24"	LF	2,445	\$47.95	\$117,237.75	\$66.00		\$45.50	\$111,247.50	No Bid	\$0.0
107	HCFCD 02505	HDPE PIPE, 36"	LF	100	\$80.68	\$8,068.00	\$89.70	\$8,970.00	\$66.50	\$6,650.00	No Bid	\$0.0
108	HCFCD 02505	HDPE PIPE, 42"	LF	358	\$100.80	\$36,086.40	\$118.00	\$42,244.00	\$85.85	\$30,734.30	No Bid	\$0.0
100	HCFCD 02505	HDPE PIPE, 48"	LF	1,197	\$123.66	\$148,021.02	\$147.00	\$175,959.00	\$109.00	\$130,473.00	No Bid	\$0.0
109			LF	681	\$177.76	\$121,054.56	\$223.00	\$151,863.00	\$169.00	\$115,089.00	No Bid	\$0.0
110	HCFCD 02505	HDPE PIPE, 54"	LF	001								
		HDPE PIPE, 54" HDPE PIPE, 60"	LF	196	\$187.44	\$36,738.24	\$226.00	\$44,296.00	\$177.00	\$34,692.00	No Bid	\$0.0

					Allgood Const.		Hassell Const.		Angel Brothers		Durwood Greene Cons			
Item	Spec.	Item	Unit	Unit	Unit	Total in	Unit	Total in	Unit	Total in	Unit	Total in		
No.	No.	Description	Measure	Quantity	Price	Figures	Price	Figures	Price	Figures	Price	Figures		
A. SITE	PREPARA	ATION AND EARTHWORK				\$211,618.96	\$236,447.00			\$316,055.67	\$390,845.5			
B. PAVI	NG					\$1,733,106.02		\$1,825,205.80	\$2,137,820.75		\$1,821,433			
C. DRAI	NAGE					\$287,500.97		\$347,682.60		\$346,190.75	\$346,190.75			
D. STOR	M WATE	R POLLUTION PREVENTION PLAN				\$16,568.28		\$45,584.00		\$23,041.50		\$37,033.00		
E. TEMI	ORARY T	TRAFFIC CONTROL				\$188,383.70		\$156,381.55		\$137,317.25		\$214,665.00		
F. PERM	IANENT T	TRAFFIC CONTROL				\$40,440.85		\$41,110.45		\$38,267.75		\$47,452.40		
G. UTIL	ITIES					\$155,688.41		\$179,463.60		\$199,393.00		\$230,193.00		
		ID ITEMS (CONTRACTOR IS TO BID ON EITHER B BUT NOT BOTH)	BID ITEM N	UMBERS		\$482,492.81		\$441,263.80		\$441,283.80		\$0.00		
TOTA	L BID	PRICE (SUM OF ITEMS A THROUGH	(H)		\$	3,115,800.00	\$	3,273,138.80	\$	3,639,370.47	\$	3,747,580.00		